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2) Without a calculator, sketch a graph of f(x) = &
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3) Without a calculator, sketch a graph of f(x) = log,x
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4) Without a calculator, sketch a graph of f(x) = In(x — 1) + 3
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1) Determine the following:

Domain: (- "°1°'> Asymptote Equation: \.I z-3 Any intercepts:

Range: (":’j 0") Increasing:(a 00, as) Ves o x ry .v'n-hrup‘f'
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2) Determine the following:

Domain:(-— T, 00) Asymptote Equation: \{: - Any intercepts:

Range: (- 2, oa) Increasing: none. Meg & & vy aecpls
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3) Determine the following:

Domain: (Dl 0‘) Asymptote Equation: x = 0 Any intercepts:
Range: (’ Cw,“) Increasing: (o, 045 F-nF 3 (‘r">
End Behavior: ‘ Decreasing: /WM
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4) Determine the following:

Domain: (l', "—"") Asymptote Equation: K= ‘ Any intercepts:

Range: (—f\a, 00> Increasing: (l | M) X-tat y b g %
: cal

End Behavior: Decreasing: ,jont__
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